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Q.23) Consider the following statements

regarding the Battle of Buxar:

1. This made the English a great power in
northern India and contenders for the
supremacy over the whole country

2. The treaty of Allahabad made Nawab
of Awadh a firm friend of the company
as Awadh was not annexed.

3. The treaty of Allahabad made Shah Alam II
agreed to reside at Allahabad which was to be
ceded to him by Nawab of Awadh under the
company's protection

Which of the statements given above is/are

correct?

a)lonly

b) 1and 2 only

c)2and3only

d)1,2and3

Q.24) Which of the statements are correct

regarding the Ring Fence policy?

L. It was meant to keep India safe from
Napoleonic danger.

2. The states brought under the system were
assured of military assistance against external
aggression at their own expense.

3. The forces in the allied states were organised,
equipped and commanded by the officers of
the company.

Select the correct answer using the code given

below:

a)land 3 only

b) 3 only

c)land 2 only

d) 2 and 3 only

Q.25) What would happen if the concentration

of black carbon in the atmosphere increases for

some reason?

1. Reduction in the atmospheric concentration
of short-lived climate pollutants.

2. Reduction in the albedo of the Earth's
surface.

3. Causes ocean acidification.

Select the correct answer using the code given

below:

a)2only

b) 2 and 3 only

c)land 2 only

d)1,2and3

Q.26) Which of the following statements are

correct regarding Battle of Plassey?

I It ousted the French permanently from
Bengal.

2. It recognized the sovereignty of the English
over Calcutta.

3. It culminated into the Treaty of Alinagar.

Select the correct answer using the code given

below:

a)lonly

b)land 2 only

c)2and 3 only

d)1,2and3
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